
SAP ABAP table /DSD/HH_RACL {DSD Route Settlement: Clearing}

_DSD_HH_RACL

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

VISIT_ID [NUMC (6)]

ASS_ITEM [NUMC (6)]

OI_NO_INV [CHAR (10)]

FISC_YEAR [NUMC (4)]

COMPCOD [CHAR (4)]

ITEM_NUM [NUMC (3)]

CURR [CUKY (5)]

SD_INVOICE [CHAR (10)]

_DSD_HH_RACVHD

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

VISIT_ID [NUMC (6)]

 /DSD/HH_RACL-VISIT_ID = /DSD/HH_RACVHD-VISIT_ID 
0..N

1

_DSD_HH_RAHD

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

 /DSD/HH_RACL-TOUR_ID = /DSD/HH_RAHD-TOUR_ID 
0..N

1

T000

MANDT [CLNT (3)]
 /DSD/HH_RACL-CLIENT = T000-MANDT 

0..N
1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 /DSD/HH_RACL-COMPCOD = T001-BUKRS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 /DSD/HH_RACL-CURR = TCURC-WAERS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 /DSD/HH_RACL-SD_INVOICE = VBUK-VBELN 

1..N

{0,1}


